Study questions set 4
Q1. The following table shows the weaning weights of lambs from a given farm. Estimate the variance components and heritability for weaning weight using these data. calculate the standard error of the heritability estimate.
	Sire 
	Dams 
	Weaning weignt of Progeny(KG) 
yijk
	Dam totals
	nij

	1
	1
	12
	13
	14
	15
	18
	
	

	
	2
	14
	12
	16
	18
	20
	
	

	
	3
	13
	18
	17
	14
	
	
	

	
	4
	12
	15
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	2
	1
	14
	16
	16
	17
	
	
	

	
	2
	15
	17
	18
	14
	18
	
	

	
	3
	15
	17
	19
	16
	17
	
	

	
	4
	16
	18
	17
	15
	15
	
	

	
	
	
	
	
	
	
	
	

	2
	1
	18
	17
	19
	20
	
	
	

	
	2
	18
	20
	17
	15
	16
	
	

	
	3
	15
	14
	18
	17
	20
	
	

	
	4
	14
	18
	18
	17
	19
	
	

	
	
	
	
	
	
	
	
	

	TOTAL
	
	
	
	
	
	
	
	


Q2. Use the following ANOVA table to estimate variance components and heritability. Compute the standard error.
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Q3. Compute the repeatability estimate and the standard error of the estimate from the following data.
	Lactation 
	Ewe

	
	1
	2
	3
	4

	1
	100
	90
	120
	100

	2
	110
	100
	140
	120

	3
	120
	140
	160
	180

	4
	130
	150
	200
	140

	5
	140
	130
	
	150

	TOTAL
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